For the following sequence 28, 25,22, ...
a) Which is the first negative term of the sequence?
b) Which is the first term of the series that makes the sum of the series become negative?

a)
U,=U;+(n—1)d
Up= 28+ (n — 1)(-3)
U,=28—3n+3

U,=31-3n
U,<o0
31-3n<0
31 <3n

1
10§-<n
n=11

The 11th term is the first negative term
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b)

S, = g(z x 28 + (n — 1)(=3))

n
7 (56 =3n+3)

n
Sp =5 (59 = 3n)

Sn

S, = 29.5n — 1.5n?

S, <0
29.5n — 1.5n? < 0
59n —3n? <0
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Solve
59n—3n%=0
n(59—-3n) =0
n=0,59-3n=0
59

=0,
n n=-

nzassmmumwi

>59
-3
n =20

The 20th term is the first term that makes
the sum negative
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